30,0° testl:

v (m/s) Av (m/s)
G1G2 0,59 0,02
G3G4 0,59 0,02
G1G3 0,589 0,008
p2 0,587 0,009
p3 0,59 0,02
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30,0° test2:

v (m/s) Av (m/s)
G1G2 0,59 0,02
G3G4 0,59 0,02
G1G3 0,589 0,008
p2 0,586 0,009
p3 0,59 0,02
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30,0° test3:

v (m/s) Av (m/s)
G1G2 0,59 0,02
G3G4 0,60 0,02
G1G3 0,596 0,008
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30,0° test4.

v (m/s) Av (m/s)
G1G2 0,59 0,02
G3G4 0,60 0,02
G1G3 0,592 0,008
p2 0,587 0,009
p3 0,59 0,02
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30,0° testbh:

v (m/s) Av (m/s)
G1G2 0,59 0,02
G3G4 0,59 0,02
G1G3 0,590 0,008
p2 0,587 0,009
p3 0,59 0,02
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30,0° test6:

v (m/s) Av (m/s)
G1G2 0,59 0,02
G3G4 0,59 0,02
G1G3 0,591 0,008
p2 0,587 0,009
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30,0° test7:

v (m/s) Av (m/s)
G1G2 0,59 0,02
G3G4 0,60 0,02
G1G3 0,594 0,008
p2 0,587 0,009
p3 0,59 0,02
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30,0° test8:

—Gl1
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16 18

v (m/s) Av (m/s)
G1G2 0,59 0,02
G3G4 0,59 0,02
G1G3 0,589 0,008
p2 0,587 0,009
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44,8° testl.:

v (m/s) Av (m/s)
G1G2 0,59 0,02
G3G4 0,59 0,02
G1G3 0,59 0,01
p2 0,58 0,007
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44,8° test2:

v (m/s) Av (m/s)
G1G2 0,59 0,02
G3G4 0,59 0,02
G1G3 0,59 0,01
p2 0,58 0,007
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44,8° test3:

v (m/s) Av (m/s)
G1G2 0,59 0,02
G3G4 0,59 0,02
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44,8° test4.

v (m/s) Av (m/s)
G1G2 0,59 0,02
G3G4 0,588 0,02
G1G3 0,587 0,01
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44,8° testb:

v (m/s) Av (m/s)
G1G2 0,59 0,02
G3G4 0,59 0,02
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44,8° testb6:

v (m/s) Av (m/s)
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44,8° test7:

v (m/s) Av (m/s)
G1G2 0,59 0,02
G3G4 0,59 0,02
G1G3 0,590 0,01
p2 0,577 0,007
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60° testl:

v (m/s) Av (m/s)
G1G2 0,55 0,02
G3G4 0,55 0,02
G1G3 0,55 0,02
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60° test2:

v (m/s) Av (m/s)

G1G2 0,56 0,02
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60° test3:

v (m/s) Av (m/s)
G1G2 0,55 0,02
G3G4 0,55 0,02
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60° test4.

v (m/s) Av (m/s)
G1G2 0,55 0,02
G3G4 0,55 0,02
G1G3 0,55 0,02
p2 0,547 0,009
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60° test5:

v (m/s) Av (m/s)
G1G2 0,55 0,02
G3G4 0,56 0,02
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60° test6:
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60° test7:

v (m/s) Av (m/s)
G1G2 0,56 0,02
G3G4 0,56 0,02
G1G3 0,56 0,02
p2 0,547 0,009
p3 0,549 0,008
p4 0,54 0,01
1,0
0,9
0,8
0,7
0,6
= 0.5
o

. \

AY

A

p (barg)
o
w

t (s)

(o]



h (m)

h (m)

h (m)

0,10
0,09
0,08
0,07
0,06
0,05
0,04
0,03
0,02
0,01
0,00
-0,01
-0,02
-0,03
-0,04

—Gl1
—G2

e huiswand

1,0 15

2,0 2,5 3,0 3,5

x (m)

p2

1 15 2 2,5

G3

G4

buiswand

—p3

—p2
—np3
—np4

e huiswand




75° testl.

v (m/s) Av (m/s)
G1G2 0,47 0,02
G3G4 0,47 0,02
G1G3 0,472 0,006
p2 0,466 0,004
p3 0,467 0,004
p4 0,461 0,006
1,0
0,9
0,8
0,7
0,6
o —a1
- 0.5
o —G2
0,4
0,3
0,2 \Sﬁh
o1 T

Zi _— "
.- —

p (barg)

t(s)



h (m)

h (m)

h (m)

0,10
0,09
0,08
0,07
0,06
0,05
0,04
0,03
0,02
0,01
0,00
-0,01

-0,02 4

-0,03

—G1
—G2

buiswand

_p2

et
—
=1

G3
—G4

= huiswand

p3

p3

p4

buiswand




75° test2:
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75° test3:

v (m/s) Av (m/s)
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75° test4.

v (m/s) Av (m/s)
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75° test5:
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75° test6:

v (m/s) Av (m/s)
G1G2 0,47 0,02
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75° test7:

v (m/s) Av (m/s)
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75° test8:
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75° test9:
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90° testl.:
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90° test4.
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90° test5:
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v (m/s) Av (m/s)
G1G2 0,34 0,02
G3G4 0,34 0,01
G1G3 0,339 0,005
p2 0,339 0,004
p3 0,338 0,006
p4 0,334 0,005
1,0
0,9
0,8
0,7
0,6
i 0,5
)
0,4
0,3
0,2
0,1 \&
00 | | “‘"‘—'-ﬂm
0 5 10 15 20
t (s)
0,1
" / / /
-0,1 / / /
-0,2 NJJJ/ / /
> 03 ~
@ /
=2 -0,4
a /

—Gl1
— G2

15 20
t(s)




h (m)

h (m)

—G1

G2

2,0 2,5

x (m)

3,0

3,5 4,0 4,5 5,0

0,10

0,09 \

0,08

0,07
0,06

e— huiswand

—G3

G4

0,05

0,04
\

0,03
\

0,02
Mo

0,01

0,00

0,5

X (m)

15

= huiswand




90° test7:
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